Body water

Where the water is

An average man is 70 kg x 60% water = 42 liters of water
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An average man is 70 kg x 60% water = 42 liters of water




The water content is not fixed at 60%

Percentage decreases

O ©) @)
=) as you get older
= as you become fatter @JQ

70%  60% 50% 50%

muscle is 75% water fat is 10% water

70 kg man

70 kg x 0.60
TBW=42L




70 kg man Donuts
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70 kg x 0.60
TBW =421

70 kg man Donuts 100 kg man
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70 kg x 0.60 70 kg x 0.60 30 kg x 0.10
TBW=421L 420 + 3L =451

100 kg man
70 kg of 30kg
woight of fat
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s - 2L + 3L

= 45L

Just using gender and mass over estimates total body water by 33%




Everything in the body is either

INTRACELLULAR
or
EXTRACELLULAR
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Intracellular Plasma space
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plasma space
3 liters

Intracellular Plasma space

intracellular space
28 liters
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platelets
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red blood cells white blood cells water

intracellular compartment extracellular compartment
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Knowing the electrolyte composition of
the compartments allows one to predict
how intravenous fluids will behave




